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SECTION A
1) | The measure of €ach side of an equilatera] triangle whose area is ‘licmz is
(a)8cm (b)2cm (c)4cm (d) 16 cm

2) [The point (0, -5) fies on
(3) +ve x- axis (8) +ve y-

19

axis (c) -ve x- axis (d)—ve y-axis
3) | Solution of the €quation 3x -y =3 s

(@ (0.-3) b) (3, 6) {©) Allof these @) 2.3)
4) | The number of dimens;i

_9) | If one ang|

' 8) [The sides of a trian

ﬂe given figure, AB lICD || EF, EA perpendicular fo AB and seg BDE is the transvers such ‘
that angle DEF = 55°, Then angle AEB = :
4
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10)| Find the area of th

is slide in a park. One of its side wall .
11) T.TEEEIIDSTHE PAng GREEN AND CLEAN”, (see figure). If the sides of the wall are 1 "55T' 11m
and 6 m, find the area painted in color. ' y 2
o \“.s‘ -?‘
] z " Al A
S ey 7T _v‘_‘~‘$.,_-‘; R N e
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12) | If the point (3, 4) lies on the graph of the equation 3y = ax + 7, find the value of a. %
OR
Find the value of k, if x = 2, y = 1 is a solution of the equation 2x + 3y =k. i -~ & 6

13

14)

15)

16)

| il i scissa is -5 and

ithout plotting the points indicate the quadrant In which they will lie, if at;
ordinate is -3. Y,
g height

o triangle whose base measures 24 cm and the correspondin

measures 14.5 cm. SECTIONE

s has been painted in some colour with a message

t

SECTION C =<

Write the mirror image of the point (2, 3) and (-4, -6) with respect to x-axis;% ﬂ;_
5 [ ] Q - -

Locate the points (5, 0), (0, 5), (2, 5), (5, 2), (-3, 5), (-3, -5) and (6,

'L

If a point C lies between two points A and B such that AC = BC, then prove that
Explain by drawing the figure O i
OR ;

In the following figure, if AC = BD, then prO\}é fhat AB = CD.

] 0

getting?
OR

A floral design on a floor is made up of 16 tiles which are triai '

The taxi fare in a city is as follows: For the first kilometre, the fare|
distance it is Rs 5 per km. Taking the distance covered as x km ang




SECTION D b

Inthe given figure, if PQ || ST, < F@R =110" 34 ZRST =130° find €98 [ing: Drawa line
parallel to ST through point R.]

In the given figure, POQ is a line. Ray OR is perpendicular to line PQ. OS is another ray lying

2808 = (2005 - 2p03).
between rays OP and OR. Prove that 2

« >
3 e Q

19) | In countries like USA and Canada, temperature is measured in Fahrenheit, whereas in

Countries like India, it is measured in Celsius. Here is a linear equation that converts Fahwenheit
to Celsius:

a) Draw the graph of the linear equation above using Celsius for x-axis and Fahrenheit for yaxis.
b) If the temperature is 30°C,what is the temperature in Fahrenheit?

OR
If the temperature is 95°F,what is the temperature in Celsius?

c) If the temperature is 0°C, what is the temperature in Fahrenheit and if the temperature is 0°F,
what is the temperature in Celsius?

d) Is there a temperature which is numerically the same in both Fahrenheit and Celsius? If
yes, find it.

20)| In fig the side AB and AC of AABC Are produced to point E And D respectively. if bisector

BO And CO of £ CBE And £ BCD respectlvely meet at point O, then prove that

ZBOC = 2 BAC
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General instructions: - .
1) There are 19 questions in all. All the questions are compulsory.
2) Marks of each questions are indicated against the questions .
3) Questions from serial number 1 to 10 are objective type questions. Each question carries

one mark.
4) Questions from serial 11 to 14 are of 3 marks each.
5) Question number 15 to 17 of 5 marks,
16) Question number 18 and 19 of map .
Q.1) SECTION A_VERY SHORT ANSWERS
1)| Match the pair
LA B
L 1 Librals a. Government based on the majority of
Nations population

| 2 Radicals | b. Against private property
) c. Wanted a nation which tolerated all
' religions

2)Why are forest useful to us
OR

Name the events that occurred

1900 1929

3)|Correct the Statement and Rewrite _

Bastar rebellion was started by in Chotanagpur o
4)| Which incident is depicted in the picture below

Which one of the following is the

(a)Narmada
(b)Krishna
(c)Godavari
(d) Mahanadi

5)
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planation of Assertion, (c) Assertion

N and Reason are false

10) [ Intensive Subsistence Farming-
(@) Machine based

(b) Traditiona] methods baseq
(c) Labour intensive

---------

SECTION B SHORT ANSWER TYPE QUESTION ol
¢an you explain how g

doctor, teacher, engineer and g tailor are an assetto |1

Pilcture =>_3

Or

What is a Constitution, explain any three characteristics-;

2) | Difference between Peninsular river and Hin:)alaz:n river
i ifying bon -

is the monsoon considered as uni 3

Z; \é\/tf;}:jlj the Table Health infrastructure over te ,j:

e TR
B T T T e T B e an
B e oy

1951 |




3181 I’
SC/ PHC / CHC 725 L
i ies and
PRl 9209 23555 43322
Hospitals
TR —
Beds 117198 569495 870161
. Doctors 61800 268700 503900
Nursing
18054 143887 737000
Personnel
SC : Sub Center, V
PHC : Primary Health Center '
CHC : Community Health Center
Study the table 2.2 and answer the following questions.
(a) What is the percentage increase in dispensaries from 1951 to 2001?
(c) Do you think the increase in the number of doctors and nurses is adequate for
India? If not, why? N
(d) What other facilities would you like to provide in a hospital?

Or

Unemployment leads to low income and low savings and hence
This is the identification of a depressed economy.” Support th

Explain the main effects of the First World War on the indj ries
- Or 4
What are the New Developments in Forestry ?

How dlid Yowt Achool celobsiate Conctibubion 1

Map skilled

On the map of India locate and write the names of:-
1. Himalayan Rivers




il

2. Peninsular Rivers
1_::9 In the given outline map of the wor

Id, two features are marked. These are the countries tha
Allied in the First World War. Identify them, .

<
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6.
7%

8.

10.

1kals

1. | Acannon after firing recoils. Which faw is applicable here?

Lf/&/ How much force acts on abody whose mass is m Kg and is moving at uniform velocity for time t seconds?

ATIONAL, ‘rkdﬁ;rfé“
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Roll No:. — — Class; (%

Twow 94 vy,
1. The question paper comprises thrag se

{

|

ctlons A Bang CA 1 3l 1414 “itions, 43

2. All questions are compulsory, |

3. Internal choice ig given in each sections,

3. All questions in section
types questions, They are

Aare one mark questions comprising bco, yom type 564
to be answered in one word or in one Seriarva,
4. All questions in section B are three marks , short answ/ar 4, 1 ;
® questions , Tr
about 50-60 words each, : ' i i ol AT

Byt s 0y .

90 words each,
6. This question Paper consists of a total of 18 questions,

SECTION - A

‘fﬁ B are two masses of mass 6kg and 34kg, Which of two has more inertiz?
/

The fine particles of an insoluble substance is uniformly dispersed throughout a liquid, what Kind of mtire is
formed?

What mass of CO2 will contain 3.011x1023 molecules?
2! Or -
The formula of chloride of metal M is MCI3, then what is formula oﬁtsphosvlnte? ’\QOQ ) 3

Select odd man out. Carbon, Oxygen, lodine and Mercury.

Name the tissue found in husk of coconut.

Or
Tendons are stronger and have high tensile strength,
Sieve tubes and companion cells occur in (a)Xylem. (b) cambi

Adipose tissue acts as an insulator (Assertion -reason ques ions)
Differentiate between cardiac muscles and skeletal muscles.
SECTION-B

ering
Due to excessive workout , an athlete was suffering

i in join the practice..
sometime and then again join :
(a) Why did athlete feel tired after excessive workot

(b) Why was he asked to take rest? 3
| or




16

17,

18.

12.
13.
14,

15.

(a) Identify and name the structure shown in the given figure.

(b) Name the parts labelled A and E.
(c) Explain how does this structure work?
Convert into mole. a) 24 g of oxygen gas  b) 10g of water  c) 44g of carbon dioxide

If 25gm salt is mixed in water to form 250 ml solution, find its concentration by %mass.

m%wmmumwwmmmwmrmmw

Using Newton’s law-of gravitation find units of G.

An object is thrown vertically upwards and rises to height of 10m. Calculate, Velocity with which object
is thrown upwards. The time taken by object to reach highest poinit.

Section-C

(a) Identify and name the muscle fibres shown below.

(b) Differentiate between straiated, unstraited and cardiac muscles in the basis of their structure and
location in the body. L

Answer following questions(i)Give an example of metalloid. (ii)Give an example of chemical change
(iii)What is saturated solution? (iv)What particle size do particles of solutions, suspension and colloid
solutions have? (v)What is Tyndall effect? ‘ 4 iRy, i

Answer following questions.
(i)State first law of motion. (ii) Which would requit
4 kg mass at 2m/s? (iii)What is Law of conservati on
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SECTION A
1) | The Mmeasure of €ach side of an equilaterg triangle Whose areg g V3 cm?jg
(@) 8 cm ®)2cm (€) 4 cm (d) 16 cm
2) |The point (0, -5) iies on [ — :
(a) +ve x- axis (b) +ve Y-axis (c)—ve x. axis \&dS—ve y-axis =
3) | Solution of the ®Quation 3x -y = 3 ;5 : - 3
@) (0.-3) (b) (3, ) c) AIFSf these @) @ 3) |
4) | The nNumber of dimension, 5 point has
@0 ()1 (c) 2 (@ 3 :
S) | K one angle of g triangie js €qual to the sum of the other two angles, then the triangle
6) |The sides of g triangle are in ratig 3:4:5 |fthe perimeter of the triangle is 84 cm, then areg
of the triangle s - LEER NS
7) | In the given figure, AB || cD || EF, EA Perpendicular to AB ang seg BDE is the transvers such
that angle DEF = 55°, Then angle AEB = W Perioe)es - € G
4 A Si 0\0,3 Q- X
A tc ts 4
D| s
B /
F
A/v vy
8) |Infig if x=30" then y= -
.'.\ﬁ
e
¥
P
S — -
-+ £
OR

Find the measure of Complementary anglq f
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14)

15)

16)

17)

12) Iflhepo'u(a.dt)iuonﬁw%zphdhm%-ax07,wthovabeda.

i saissa is 5 ang
Find the area of the triangle whose base measur ;
mezsiwes 145 om, “ZAW“"‘WVWWW
EECTIONE

'KEEPﬁiEPARKGHEEan mmmﬁmm:mam
me.wuauWhmw, « (808 figure). I the sides of the wall are 15 m, 11 m

F'ndﬂ'ievabeofk,itxzz.y'1isasollmonom\eeq.:aﬁonzx&?yﬂk.

13)| Write the mirtor image of the point (2, 3) and (<4, -6) with respect 10 x-axis.

EECTIONC
Locate the points (5, 0), (0, 5), (2, 5), (5, 2), (-3, 5), (-3, 5) and (8, 1) in the Cartesian plane.
' iac=ls
If a point C lies between two points A and B such that AC = BC, then prove that ”
Explain by drawing the figure e
OR F 3 ‘,1_ 4
In the following figure, if AC = BD, then prove that AB = CD. o.ﬁ;{

[

—
— A

g K
¥
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"\',\;: ;"‘: 3
% B : 57 ‘\//ﬂ -;/:3

A rhombus shaped field has green grass for 18 cows to graze. If each side of the rhombus is
30 m and its longer diagonal is 48 m, grass of how much area of grass field will each cow be

~

SRt
~-{ea
"3 Mt

aﬁy i
a

OR

A floral design on a floor is made up of 16 tiles which a '
9 cm, 28 cm and 35 cm (see figure). Find the cost of pc

finear equation for this information, and draw
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e SECTIoN p

) In the given figure, If PQ | ST, <FQR =1 10" and <RST =
parallel to ST through polint R,

12

130° find QRS _(ing: Draw a line

3
—

el S - —
R
X OR

In the given figure, POQ s a line. Ray OR is Perpendicular to line PQ, OS is another

ZROS =
between rays OP ang OR. Prove that

ray lying

3(200s - 2p0s).

19) | In countries like USA and Ca

ALL THE BEST ___
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